Math 141 Quiz #4: Thursday, December 6, 2012

Name: Section:
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There are 6 multiple choice problems, and 2
short answer problems. You have 30 minutes
to complete the quiz.

Please mark all multiple choice answers
in the box provided.
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1. Describe the interval of convergence for the power series _S_ ( 2n) .
n .

n=0 a

(a) Radius = 3, centered at a = 2.
Radius ‘:__2_, centered at a = 3.
(c) Radius = 1, centered at a = 0.
(d) Radius = 2, centered at a = —3.
)

(e) Radius = 1, centered at a = 3.
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2. Evaluate / T dz as a power series centered at a = 0.
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3. Find the Taylor series for iex centered around z = 0. - C' * Z"(' LRV\A’})
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4. Find the MacLaurin series for f(z) = z°sin (xz) Sl'\(x) = ZC D CQ'L‘H) ‘
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5. What is the formula for the length of the parametric curcezd?awn from t =0 to t = 207
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6. Find the curve described by parametric equations
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z(t)=cos(t)+1 0<t<2r
y(t) = —sin(t) - 1
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7. (2 points)] Find the points on the following parametric curve where the tangent is horizontal.

z(t)=1n(t) fort>0
y(t) =t —1t2
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8. KZ pointsy Find the 3rd degree Taylor Polynomial for f(z) = % centered around z = 2.
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